totalPwr/median

totalPwr/median

scan: 515300039 az,za: 10/.7 5.0 tm:19:27:25 pol A
O"‘O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T

medLagO: 1.22 1.02 1.06 1.00 1.176 0.99 1.23 |
0.08 — -

’“ J \\L“ MW WW‘ i

’Lr 1

0.06 |

m
H

f“‘va,‘w’w mﬂuﬂ‘r ‘\

0.04 — -

b e e

0.00 —]

0 200 400 600 800 1000
sample in strip

yymmddﬂ30602 po\ B

O, 10 T T T ‘ T T T ‘ T T T ‘ T ‘ T
- medlLag0O: 1.04 1.00 1.14 1.06 1.08 1.12 1.18 s
0.08 — -
W WM aafi o “‘ \ “"“ h“‘ -
" M AT / VNH ,«ﬁ‘« X
0.06 [~ P W™y " ]
| W / “’,M‘!NM!\,'T.r,” Vo vy
i _
0.04 — ‘ 7 \
[t | & _
0.00 — ™
I ‘ I ‘ I ‘ I I ‘ I ‘ I
0 200 400 600 800 1000

sample in strip



totalPwr/median

totalPwr/median

scan:515500042 az,za: 96.9 8.6 t

m:19:51:22 pol A
T T T ‘ T T

medLagO: 1.25 1.04 1.09 1.01 1.21 1.05 1.30 |

0.08 h ]

0.06 [+

M«.m"h Col b 4t g A ' Moty 1 I Ay
\ TN R L T o ! EV 0l e TR A AR W VA ol A
N ! (U A
L " f i
I | |
0.04 I ""| | |

0.02 MWWW"WWWW”WWWW WWWMW herghlbvp i MWWWWNWW%M X

I
0.00 —
1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1
0 200 400 600 800 1000
sample in strip
yymmdd: 150602 pol B

O"‘O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T

- medlLag0: 1.08 0.99 1.16 1.06 1.11 1.16 1.20 -
0.08 — I =
0.06 — s L

0.04 Vn 4

0.02 %AWWMWWMWWM f " WMMWW WMWWWWMWMMWWW

0.00 (= —

0 200 400 600 800 1000
sample in strip



totalPwr/median

totalPwr/median

O/‘ 0 T T T ‘ T ‘ ‘ T T ‘

| medlLag0: 1.29 1.08 1.12 1.04 1.24 113 1.0/ _
0.08 — -

L v i

i ‘YRR M JW\M \" \\) '\ I ‘v M;

| | m’ ;‘u \ /v Ul h m””r oy r W\ *‘M m\
0.08 ’:W‘ iy ‘{”,”‘ ,‘/u" wmw‘l\”“ W ,l‘ﬂ "’M M“ Myt /V« fyth h o (v U il ,/W"!'i
0.02 ‘ il
0.00 =
1 ‘ 1 ‘ 1 ‘ 1 ‘ 1 ‘ 1
0 200 400 600 800 1000
sample in strip
yymmdd: 150602 pol B

O"‘ O T T T ‘ T T T T T T ‘ T T T ‘ T

- medLag0: 1.10 1.04 1.18 1.10 1.14 1.01 1.29 -
0.08 — -

i A P

i ’ ‘\ A ‘~.,~‘/‘uw’“”"('\L"/’w\\»,m,‘"wﬂ“\’»«wW”w‘\f"”“\‘ |
O . 06 /‘,T B Vo Wiy \v W "Wy T N

I Py Wy AV N d’v’\;‘“’\“"’
0.04 /= -
0.02 — A _
0.00 =

| \ | \ | \ | \ \ |
0 200 400 600 800 1000

scan:5153500045 az,za:

95.3

14.2 tm:20:15:04 pol A
T T T T ‘ T T

sample in strip



